HIWIN.,

Motion Control and System Technology

Support Unit

Technical Information

www.hiwin.tw



HIWIN.

Motion Control and System Technology  High speed High precision  Multifunctional integration Ecology first Humanistic technology
'O' TAIWAN EXCELLENCE - u TAIWAN EXCELLENCE
F ‘v{ GOLD AWARD 2013 ¢\f SILVER AWARD 2006
- IXIC\E!L\E{‘\!&H Crossed Roller Bearings L&!L‘E{‘\!Aou Torque Motor
el o - Direct drive Motor
i’ N
-
-~
| —
) TAIWAN EXCELLENCE }v. TAIWAN EXCELLENCE 2014
N GOLD AWARD 2014, 2012, 2011, ".« .
$¢ 2009, 2008, 2005 TAIWAN Servo Drives
TAIWAN SILVER AWARD 2006, 2001, 1993 EXCELLENCE 2014

EXCELLENCE 2014

Ballscrews
s = Ground/Rolled
g )
NS * Super T Series

TAIWAN * High Speed

ExceLLENCE 2006 (High Dm-N Value/Super S Series)
For Heavy-Load Drive

Ecological & Economical
lubrication Module E2

Rotating Nut (R1)

Energy-Saving & Thermal-
Controlling (C1)

* Recirculation Divide Series

AC Servo Motors

s\ TAIWAN EXCELLENCE 2N). TAIWAN EXCELLENCE 2002
%, GOLD AWARD 2004 " N Linear Actuator

* LAK Controller

TAIWAN [inear Motor _— TAIWAN . LaN for Hospital
EXCELLENCE 2004 - et EXCELLENCE 2002 .
« Coreless Type (LMC) ﬂ'_,..-- * LAM for Industrial
4  LAS Compact Size

o TAIWAN EXCELLENCE
& GOLDAWARD 2010, 2003
TAIWAN sSingle Axis Robot

EXCELLENCE 2010
* For Semiconductor & Electronic (KK

Series)
* For Automation (KS, KA Series)

! /A TAIWAN EXCELLENCE
,‘f SILVER AWARD 2009

TAIWAN Linear Motor

EXCELLENCE 2009 . .
Air Bearing Platform

D TAIWAN EXCELLENCE
,‘ GOLD AWARD 2008
TAIWAN SILVER AWARD 2007, 2002

EXCELLENCE 2008

Positioning
Linear Guideway

R

Measurement System

* Lz HO/EG/RG/MG Type
NS * Ecological & Economical

TAIWAN lubrication Module E2
EXCELLENCE 2007 * Low Noise (Q1)
o Air Jet (A1)

;\0'. TAIWAN EXCELLENCE 2004

TR o ) Linear Motor X-Y Robot
WNs.  Positioning Guideway
TAIWAN Linear Motor Gantry

EXCELLENCE 2004




HIWIN

BO3TE01-1412
Content

PR =T 0o PP 1
8 04 3 - T o= Yot (=T of =1 o 1
B - 1 g Lo =T ol IS U7 o] o o] ot 01 o 11 OO PPPRP 2
R ISY =1 Te Yol ISYUY o] o YT ot G0 Lo VLT o1 4ot o 1¥ ot o o SRR 2

B B0 S o Y=Y of 1 Tot= 1 o y I oo T [ PPN 2
BT 3 1 1Tt 0ot o = o PR 3
3.4 PUICRAsing QUITE ..ottt et e e e e s e e e e e e e e e e e e s e s see e e e e seanneeeeeaennnreeeeaeannneeesaaannreaeaan 4
TR T = Tod =71 o P 5

4. Heavy Load SUPPOrt UNit ...ccciiiiiieiiieii e e e e e e e e e s s s e e e e e e e e e ena e e s e e e e e eeeennnes 6
4.1 INTFOAUCHION 1ottt 6
LS e =Tod 1 Tek= 4 [ ] o PSP PPPPPPPPPPP 6

0 T /]« T PR 6
4.4 Heavy Load Support Unit COMPOSITION ..c..ceiiiieieiiieeeeiee e s mn s 7
4.5 Dimensions for Heavy Load SUPPOrt URit ..... ..o e e e e e e 8

5. Shaft Diameters Available for SUPPOIrt UNit ......eeeeiieiiiiiiii e 9
LTS =] T F= T fe B I T 1Y =Y o TN I o [ =N 9
7. MOUNEING PrOCEAUIE oiieeeceeie ettt e s e s e s s e e e e e e e e e es e e e s e e e e e e e e e e e ennnnnssannn e s 10
7.1 Installing the SUPPOrt UNit ..... ..o e e e e e e e e e e e s mnn e e e e s e mmneeeean 10
7.2 Installation onto the Table and the Base ..ot 10
7.3 Checking the Accuracy and Fastening the SCrew ... e 1
7.4 Connecting t0 the MOtOr ....coo e e 1

8. Product SPecifiCation .....ouii i e e e e e e e aa e e e e e 12
8.1 Standard Support Unit SpPeCifiCation ..........cooi it e e e e s e e e e e s nnn e e e e nnees 12
TR T Y 8= = o - 12

8.1.2 AF SOII@S uteiiitii ittt 13

L= TR T = Q0T T o = S 14

TR I/ = =Y 1= PR 15

TR T QoY= T RSN 16

TR T Y= oY PPt 17

L= TR0 T A Q0o =T 1= P 18

81,8 FF SIS .ottt e 19

L= 200 T T Q0 T T o 1= 20

8.1 T0 LF SOII@S ittt ittt e 21

TRt T N T o T 22

8.1.12 Suggestive machining dimension for SUPPOrt UNItS........ccceviieiiiiiiere e 23

® FiXed Sid@-BK SEIIES ...coiueiiiiiei ittt an e e nenn e 23

® Fixed Side-FK, EK, AK, LK SEIIS ... .ottt st sn e e e s e ne e 24

LI U] o] oo gt (=T RS Lo L= ORI TRR 25

8.1.13 Standard LOCK NUL ....cciceiiiricii e 26

8.2 Heavy Load Support Unit SPecifiCation .......ccccceeieiiiiiiiiiiieies s e e e s e s s s e e s s nnnnnnne 27
B0 B = G0 o =T N 27

8.2.2 HeaVy Load LOCK NUL .....oiieiei et e s e s e e e s e e e e e e s nmn e e smeeenennnenenns 29



HIWIN
BO3TE02-1506

1. Feature

HIWIN support units are composed of a bearing housing, bearing, holding lid, seal, lock nut and set screws.
The support units can be used on fixed and supported ends of the ballscrew, which mounts the ballscrew in the
desired position. Its compact size is easy to install, especially in the narrowed space. Since the bearings are
greased and adjusted to the suitable position, there is no need for additional alignment or installation processes,
which reduces installation time and maintenance.

HIWIN support units can be applied to automation and industrial machinery, and are classified into 11 types:
AK, AF, BK, BF, EK, EF, FK, FF, LK, LF and LFA. For the machinery structures requiring higher axial thrust force,
HIWIN recommends the WBK support unit series. The WBK is used for high load applications and better axial
stiffness, which allows a machinery structure to hold accurate positioning under a heavy load. Currently the heavy
load support units are classified into 3 assembly types, each offering different loading capabilities: DF, DFD, and
DFF.

2. Characteristic

¢ Assembled with high accuracy and stiff angular bearings

¢ Anti-rust surface

e Compact size and easy installation in tight or narrow spaces
e Instant installation without additional processes

e Multiple sizes and types available

e Total solution- Available to ship with a HIWIN ballscrew assembly




HIWIN
BO3TE02-1506

3. Standard Support Unit

3.1 Standard Support Unit introduction

Generally standard support units are applied in automation and industrial machinery. The support units can
be classified into 2 types: fixed-end(AK, BK, EK, FK, LK), and supported-end(AF, BF, EF, FF, LF, LFA).

Ballscrews are the best choice to acquire a better transmission efficiency. Though ACME screws or similar
sliding friction screws have worse machinery efficiency and waste more resources, standard support units can still
be used to fix and support.

3.2 Specification code

AN OO O ¢3 &

Product code —I ‘ ‘ \— Surface treatment

Nominal size

Precision level

Bearing type

1. A =11 Product codes can be classified as fixed-end AK, BK, EK, FK, LK and supported-end AF, BF, EF,
FF, LF, LFA

2. OO : Nominal size of bearing bore. There are 2 digits and the units are in millimeters (mm). e.g. 30 refers
to diameter 30mm, and 35 means diameter 35 mm. The nominal diameter of the supported-end refers
to the nominal diameter opposite to the fixed-end; the inner diameter of the supported end is equal to or
smaller than the nominal diameter.

3. [] : Bearing type. Blank refers to standard production which uses a 30 degree angular contact bearing. On
shaft diameters over 20mm, a 40 degree angular contact bearing is available. Nominal diameters of 35mm
and 40mm require higher radial loading and are only offered with the 40 degree angular contact bearing.

4.C3 : There are 3 precision classes C3, C5 and C7. It is suggested to use C3 support units with a C3
ballscrew, and C5 ballscrew can be used with C3 or C5 support units, which enables the support units

precision to match the ballscrews precision. C7 ballscrews should only be used with C7 support units.

5.<{> : There are 2 types of surface treatments available: blackening and nickel plating. Blank refers to

blackening which is HIWIN standard. N refers to nickel plating, which is manufactured by order.



HIWIN
BO3TE02-1506 3

3.3 Structure chart

oy
ﬁ
L]
EON
Item Description
1 Bearing housing of fixed end
2 Collar
3 Seal
4 Angular contact ball bearing
5 Holding lid
6 Lock nut
7 Hexagonal socket-head setscrew with set piece
8 Bearing housing of supported end
9 Deep groove ball bearing
10 Snap ring

Note: 1. Do not disassemble Item 1, 3-5 as they are installed and adjusted

well, or the precision may be affected.

2. Standard bearing is pre-packed with #2 Li/Ca soap grease, any

special requirement please contact HIWIN.



HIWIN
4 BO3TE02-1506

3.4 Purchasing guide

Fixed Side
Type Axial Direction
I.nternal _ E—
ler::]er BK LK FK EK w I L°?ENL]'m't Dynamic Load
rating Ca (kN)

OF - - FKO6 EKO6 - 706A 0.73 2.4
o8 - LKO08 FKO08 EKO8 - 708A 1 4
®10 BK10 LK10 FK10 EK10 AK10 7000A 1.9 6.4
®12 BK12 LK12 FK12 EK12 AK12 7001A 2.1 6.9
®15 BK15 LK15 FK15 EK15 AK15 7002A 2.4 7.3
®17 BK17 - FK17 - - 7203A 4.1 12.9
®20 BK20 - - - - 7004A 4.2 12.9
®20 - - FK20 EK20 AK20 7204A 5.8 17.2
®20 - - FK20B EK20B AK20B 7204B 6.8 18.3
®25 BK25 - FK25 - AK25 7205A 7 19.3
®25 BK25B - FK25B - AK25B 7205B 8 20.3
®30 BK30 - FK30 - - 7206A 9.8 26.8
®30 BK30B - FK30B - - 7206B 10.5 28.4
®35 BK35 = - - - 7207B 14.4 37.3
® 40 BK40 = = - - 7208B 18 A

Note: 1. P5 bearing is used in C3 and C5 support unit; PO bearing is used in C7 support unit.
2. Applied in light resultant axial force.

Supported Side

Type Radial Direction
Internal Basic ) )
Diameter Bearing  Dynamic Basic Sta?tlc
(mm) BF LF LFA FF EF AF Ll =i Load rating
CO (kN)
C (kN)
®5 - - - FKO05(C7) EKO05(C7) - 605 1.3 0.5
OF - LFO8 - FF06 EF06 - 606727 2.2 0.8
EF08

o8 BF10 - - FF10 EF10 AF10 608727 33 1.3
®10 BF12 LF10 - FF12 EF12 AF12 600022 4.5 1.9
®12 - - LFA12 - - - 680127 1.9 1
®15 BF15 LF15 - FF15 EF15 AF15 600227 5.6 2.8
®15 - - LFA15 - - - 690277 4.3 2.2
®17 BF17 - - FF17 - - 620327 9.5 4.8
®20 BF20 - - - - - 6004227 9.4 5
®20 - - - FF20 EF20 AF20 6204727 12.8 6.6
®20 - - LFA20 - - - 6804727 4 2.4
® 25 - - LFA25 - - - 600527 10.1 5.8
®25 BF25 - - FF25 - AF25 620577 14 7.8
®30 BF30 - - FF30 - - 620677 19.5 11.3
®35 BF35 - - - - - 6207727 25.7 15.3

® 40 BF40 - = = = = 620877 29.1 17.9



HIWIN
BO3TE02-1506

3.5 Precision

Support unit C3, C5, C7 requires different precision level. The fixed-end support unit uses 30 or 40 degree

angular contact bearings, and the supported —end unit uses a deep-groove bearing of series 6.

C3 fixed-end support units utilize a P5 bearing and uses a DF type bearing assembly. There's preload
between 2 bearings to avoid movement of the ballscrew and backlash from the machine. C3 fixed and supported-
end support units enable the shaft and the supports to maintain good turning precision after assembly due to the

precise geometrical tolerances between the datum plane and the bearing.

C5 support units are also provided with P5 bearings, and uses the DF type bearing assembly. There's preload

between 2 bearings to avoid movement of the ballscrew and backlash from the machine.

C7 support units are provided with PO bearings, and there may or may not be preload between the 2 bearings
which can result in varying backlash values per support unit, but due to the DF bearing assembly type, it can

support the axial force of the shaft to avoid large movements while the shaft is enforced.

Moreover, the different support units will have different tolerances from standard side to the center,

illustrated as below:

S tUnit  Applied Ball Beari Distance Height Shaft
upport Uni ied Ba earin
i i Bearing Level i Tolerance (b) Tolerance (h) Tolerance
Level Screw Preload
(mm) (mm) (@D) (mm)
3 C3 B5 Preloaded *0.015 +0.01 gb
€5 C5or C7 P5 Preloaded *0.02 *£0.02 g6
C7 C7 PO N/A *0.04 *0.03 g8
_|_
|
HON N
< 8 ——
HON
b
Height Tolerance: Refers to the tolerance of h. :Ef
Distance Tolerance: Refers to the tolerance of b.
Unit: um

Shaft Tolerance
Shaft Diameter (mm)

gb g8
high low high low high low
18 30 -7 -20 -7 -40
30 50 -9 -25 -9 -48
50 80 -10 -29 -10 -56

80 120 -12 -34 -12 -66

5



HIWIN
BO3TE02-1506

4. Heavy Load Support Unit

4.1 Introduction

Heavy Load Bearing Supports have excellent axial loading capabilities and can be applied in a wide range of
industrial machines. The WBK utilizes 60-degree angular contact bearings, it handles higher axial load and high
stiffness.

Rotation precision grade is P4 to meet positioning accuracy.

The heavy load bearing supports have three configuration types: DF, DFD, and DFF. DF is for general use and
can bear both normal and opposite axial forces. DFD uses one bearing on one side and two on the opposite side,
to enhance the loading capacity. DFF uses two bearings in both directions to increase each sides loading capacity.
Customers can choose from different configuration types based on the axial loading capabilities needed for the
application.

4.2 Specification

AN OO
WBK 30 DF

—I \— Bearing Configuration Type

Bearing Support Type

Bore Diameter

WBK : Bearing Support Type. WBK is the heavy load support unit for ballscrews.
ANt Bore diameter in millimeters (mm). Ex. 30 indicates a bore diameter of 30mm.

<{><> : Bearing Configuration Type. There are three types which are DF, DFD, and DFF.

4.3 Type
i
L m=
e oTobsl OO0 T oloTofobe
EOIOTE] EOLOOTET OGO BT
T
_ _ —
=

DF Type DFD Type DFF Type

Note:Please contact HIWIN if the other combinition types,like DB,are needed.



HIWIN
BO3TE02-1506 /

4.4 Heavy Load Support Unit composition

6 j / )f ;) 7
/
T O+OVE]] L_E[E
- t
[ He=A B
Number Item Quantity
1 Bearing housing 1
2 Bearing 1 set
3 Holding lid 1
4 Collar 2
5 Seal 2
6 Set Screw 6or8
7 Lock Nut 1

Note:1. Please use plane A and B as the datum plane while installing the
support unit.

2. Please DO NOT dissemble items 1, 2, 3, 5 to avoid affecting accuracy.

3. Lubrication #2 Li/Ca soap grease is applied, please contact HIIWN
engineers when special modifications are needed.



HIWIN
8 BO3TE02-1506

4.5 Dimensions for Heavy Load Support Unit

Basic Axial Permissible Axial Load

Bj:r:;a' Spec. Dynamic (kN] . Preload (kN) ngld::; N/ Ma;(N'I;:;]ue
Load (kN) Normal Opposite
®15 WBK 15 DF 21.9 26.6 26.6 2.15 750 0.19
®17 WBK 17 DF 21.9 26.6 26.6 2.15 750 0.19
®20 WBK 20 DF 21.9 26.6 26.6 2.15 750 0.19
WBK 25 DF 28.5 40.5 40.5 318 1000 0.29
®25 WBK 25 DFD 46.5 81.5 40.5 4.3 1470 0.39
WBK 25 DFF 46.5 81.5 81.5 6.3 1960 0.49
WBK 30 DF 29.2 43 43 33 1030 0.3
®30 WBK 30 DFD 47.5 86 43 4.5 1520 0.4
WBK 30 DFF 47.5 86 86 6.7 2010 0.5
WBK 35 DF 31 50 50 3.8 1180 0.34
®35 WBK 35 DFD 50.5 100 50 5.2 1710 0.45
WBK 35 DFF 50.5 100 100 7.65 2350 0.59
WBK 40 DF 31.5 52 52 3.9 1230 0.36
d40 WBK 40 DFD 51.5 104 52 5.3 1810 0.47
WBK 40 DFF 51.5 104 104 7.85 2400 0.61

Note: 1. 60° contact angle Ballscrew Bearings are adopted.

2. Surface blackening treatment. Please contact us when other surface treatments are needed.



HIWIN
BO3TE02-1506

5. Shaft Diameters Available for Support Unit

Ballscrew
Dia.(mm)

o8
¢ 10~ 12
®10~®15
¢ 14~D 18
®20

® 25~ 28

® 30~ P36
® 40
d 45
®50

BK

BK10
BK12
BK15
BK17
BK20
BK25
BK30
BK35
BK40

AK

AK10
AK12
AK15

AK20
AK25

Fixed Side
EK  FK
EK06  FKO6
EK08  FKO8
EK10  FK10
EK12  FK12
EK15  FK15

- FK17
EK20  FK20
- FK25
- FK30

Bearing Support Spec.
LK WBK BF AF
LKos - : -
LKI0 -  BF10  AF10
LK12 - BF12 AF12
LK15 W%K BF15 AF15
WBK
- SE BRi7 -
WBK
- b0 BF20  AF20
- V\’ZEK BF25 AF25
WBK
: o BF3D -
WBK
; B BF3S -
WBK
: o BF4D -

6. Standard Tighten Torque

Bolt Spec.

M3

M4

M5

Mé

M8

M10

M12

M16

Standard Tighten Torque

Bolt-Sectional Pitch

(mm?)
5.03
8.78
14.2
20.1
36.6

58
84.3

157

Note: Standard bolt stress: 210 (N/mm?)

Standard Operating

Torque (N-m)

0.63

1.5

3

5.2

12.5

24.5

42

106

Supported Side

EF
EF06

EF08
EF10
EF12
EF15

EF20

FF
FF06

FF06
FF10
FF12
FF15
FF17
FF20
FF25
FF30

LF

LF08
LF12
LF12
LF15

LFA

LFA
12
LFA
15
LFA

LFA
20

LFA
25

Standard Axial Tension

(kN)
1.1

1.9
3.0
4.3
7.8
12.3
17.5

33.2

9



HIWIN
10 Bo3rE02-1506

7. Mounting Procedure

7.1 Installing the Support Unit

Install the fixed-end support unit and collar onto the ballscrew shaft, then use a wrench to slightly fix the
lock nut.

Notes: (1) Do not disassemble the bearing support.

(2) When inserting the screw shaft to the Support Unit, please be careful not to scrape the seal lip.

Hexagon Socket Head
Setscrew

Bearing

/ Copper-washer ~ Collar i

£ Snap Rings

um T

o I R ! |
1 gl I @ !
lis'e = -

Lock Nut - -
ock U Collar Fixed-end Supported-end

7.2 Installation onto the Table and the Base

1. When mounting the ballnut to the table, insert the nut into the bracket and temporarily fasten it.

2. Mount the bearing onto the ball screw shaft and fix it with the snap ring, and then put into the supported-

end support unit.
3. Temporarily fasten the fixed-end and supported-end Support Unit to the base.
Move the table toward the fixed-end Support Unit to align the axial center.

Adjust the position of each part until the nut can move smoothly, then lock the support unit tightly onto the
base temporarily.
@ Using the fixed-end Support Unit as the reference point: please design a clearance between the table or

inside the bracket and ball screw nut for adjusting the height of ball screw shaft and nut.

@ Using the table as the reference point:

® Square type Support Unit - adjust by using a shim.

* Round type Support Unit - Be careful of the clearance between the outer surface of the nut and the
inner surface of the mounting section.

Table Bracket

Fixed End \‘ Supported End

S i
—+ > r n




HIWIN
Bo3TE02-1506 11

7.3 Checking the Accuracy and Fastening the Screw

1. Measure and adjust the accuracy of the fixed-end and use a wrench to lock the lock nut completely. Then

secure the lock nut in place by tightening the Hexagonal socket- head setscrews.

2. Press the copper-washer with hexagonal set screw, please glue adhesive on it and then fully lock by
wrench to prevent it from loosening. In addition, if the support units are being used under harsh conditions;

Please contact HIWIN for details on preventing other parts from loosening.

3. Once properly aligned, use a wrench to lock the bolts of the fixed-end support unit, the bolts for the ballnut

and the bolts of the supported-end support unit.

Move the table to the right and left, and
Measure the Axial adjust the center of screw shaft until
Clearance movement becomes smooth throughout the Measure the Run-0ut
whole stroke.

-4 -

7.4 Connecting to the Motor

1. Fix the motor to the machine.
2. Connect the ballscrew to the motor using a motor coupling.

3. Test the motor operation after installation.

Motor ]
Coupling

/ |

—|
<] ]
|

T




12

HIWIN
BO3TE02-1506

8. Product Specification

8.1 Standard Support Unit Specification

8.1.1 AK Series

2-@XDrill

@Y Counter bore
DepthZ

H1

Part No.
1

o~ O B~ W DN

Specification

AK10
AK12
AK15
AK20
AK25

d1

10
12
15
20
25

AK10 ~ AK25

Part name

Holding lid

Housing

Bearing

Collar

Seal

Set screw

(L2)

(5
eI

oo

5
S

Hexagonal socket-head

setscrew with set piece

L L1

24 6
24 6
25 6
42 10
48 12

L2 L3 B H

29
29
36
50
59

56

56
)
10
14

70
70
80
95

43
43
49
58

105 68

Main dimensions (mm)

b h
(Note 1) (Note
35 25
35 25
40 30
475 30
525 35

AK10 ~ AK15

Qty

1 BT HT P X Y Z M T C1 C2 C3

36 35 52
36 35 52
41 40 60
56 45 75
66 25 85

(L2) L3

AK20 ~ AK25

9
9
(N
(N
"

14
14
17
17

1
11
15
15

L1

M3
M4
M4
M4
Mé

16
19
22
30
35

22 10 -
30 9 24

Weight
(kg)

0.5
0.5
0.65
1.45
1.92

Note: 1. Tolerance of Height (h) and tolerance of Width (b) refer to the precision of standard bearing.

2. Specification are subject to change without notice.



HIWIN
BO3TE02-1506 13

8.1.2 AF Series

2- @XDrill
@YCounter bore B1
Depthz ‘
AN T
et~ L
SERRMIBNY/ BN
< . L
] i L]
| ‘ | | ‘ | .
|| | |1
b ]
P L
B
Part No. Part name Qty
1 Housing 1
2 Bearing 1
8 Snap ring 1
Main dimensions (mm)
Specification Weigh
. ] ght
L B H (Note 1) (Note 1] B1 H1 P X Y Z Bearing Snap ring (kg)
AF10 8 20 70 43 35 25 3 3 52 9 14 11 6087z S08 0.37
AF12 10 20 70 43 35 25 3 3 52 9 14 11 600027 S10 0.37
AF15 15 20 80 49 40 30 41 40 60 9 14 11 600277 S15 0.45
AF20 20 26 95 58 475 30 56 45 75 11 17 15 @ 6204ZZ 520 0.75
AF25 25 30 105 68 525 35 66 25 85 1 - - 620577 525 0.95

Note: 1. Tolerance of Height (h) and tolerance of Width (b) refer to the precision of standard bearing.

2. Specification are subject to change without notice.



HIWIN
14 BoarE02-1506

8.1.3 BK Series

2-M
seoim e O
Depthz ‘
\\ \/@\ \\ | | A-@d2
To Jof RE
T s il il
Icmik,gﬁ T
© @ o I
L L Ll i
b c1| |c2
P L1 L
B
Part No. Part name Qty
1 Housing 1
2 Bearing 1 set
3 Holding lid 1
4 Collar 2
D Seal 2
6 Set screw 1
7 Hexagonal socket-head 2
setscrew with set piece
Main dimensions (mm)
Specification h
L L1 L2 L3 B H (Note 1) (Note 1) BT HT E P C1C2d2 X Y Z M
BK10 10 25 5 295 5 60 39 30 22 34 325 1546 13 6 55 6.6 1085 M3
BK12 12 25 5 295 5 60 43 30 25 34 325 18 46 13 6 55 6.6 108 1.5 M4
BK15 15 27 6 32 6 70 48 35 28 40 38 18 54 15 6 55 6.6 11 65 M4
BK17 17 35 9 44 7 86 64 43 39 50 55 28468 19 8 66 9 14 85 M4
BK20 20 35 8 43 8 83 60 44 34 52 50 2270 19 8 66 9 14 85 M4
BK25 25 42 1254 9 106 80 53 48 64 70 3385 22 109 11 17 11 Mé
BK30 30 45 1461 9 128 89 b4 51 76 78 3310223 1111 14 20 13 Méb
BK35 35 50 1467 12 140 96 70 52 88 79 35 114 26 1211 14 20 13 Méb
BK40 40 61 1876 15 160 110 80 60 100 90 37 130 33 14 14 18 26 17.5 M6

T

Weight
(kg)

0.4
0.45
0.6
1.3
1.3
2.4
3.4
4.4
6.8

Note: 1. Tolerance of Height (h) and tolerance of Width (b) refer to the precision of standard bearing.

2. Specification are subject to change without notice.



8.1.4 BF Series

a(C
SEREIRN-Z gl
. ==
ik @(
|
b
P |
B
Part No. Part name
1 Housing
2 Bearing
8 Snap ring
Specification 5 WD [N£L1] B1
BF10 8 20 60 39 30 22 34
BF12 10 20 60 43 30 25 34
BF15 15 20 70 48 35 28 40
BF17 17 23 86 64 43 39 50
BF20 20 26 88 60 44 34 52
BF20H 20 26 88 74 L 48 52
BF25 25 30 106 80 53 48 b4
BF30 30 32 128 89 b4 51 76
BF35 35 32 140 96 70 52 88
BF40 40 37 160 110 80 60

4- @ X Drill

T; @Y Counter bore
D\ LA Depth Z
T
? 4- @d2

Main dimensions (mm)

HT E P d2

325 15 46 55
325 18 46 55
38 18 54 5.5
55 28 68 6.6
50 22 70 6.6
b4 - 70 -

70 33 8 9

78 33 102 11
79 35 114 11

100 90 37 130 14

X

6.6
6.6
6.6

M
14
14
18

Eloerls]

Z Bearing Snap ring

Y
10.8 5 60877
10.8 1.5 600077
11 6.5 600227
14 8.5 620377
14 85 600477
14 85 600427
17 11 620577
20 13 620677
20 13 620777
26 17.5 620877

HIWIN
BO3TE02-1506 13

S08
S10
S15
S17
520
S20
S25
S30
S35
S40

Weight
(kg)

0.3

0.35
0.4

0.75
0.77
1.02
1.45
1.95
2.25
3.3

Note: 1. Tolerance of Height (h) and tolerance of Width (b) refer to the precision of standard bearing.

2. Specification are subject to change without notice.



HIWIN
16  Bo3tE02-1506

8.1.5 EK Series

(L2) L3
2-M
QY Counter bore
Depth Z i = /<5>
Vo ~—
X |
T N | S it
— e ©) L -
| | | | 1 1
3
b
P L1 L
B
Part No. Part name Qty
1 Housing 1
2 Bearing 1 set
3 Holding lid 1
4 Collar 2
5 Seal 2
6 Set screw 1

7 Hexagonal socket-head 2
setscrew with set piece

Main dimensions (mm)

cpeclfiedion L L1 L2 s B H Neet) (vown) BT HT P X Yz m T WEGN
EKOS 5 165 - 18535 36 21 18 11 20 8 28 45 - - M3 11 0.2
EKO6 6 20 - 22 35 42 25 21 13 18 20 30 55 95 11 M3 12 0.18
EKOS 8 23 - 26 4 52 32 26 17 25 26 38 66 11 12 M3 14 0.27
EKI0-1 10 24 6 295 6 65 43 325 21 36 20 52 66 - - M3 16 047
EKIO 10 24 6 2956 70 43 35 25 36 24 52 9 - - M3 16 047
EK12 12 24 6 2956 70 43 35 25 36 24 52 9 - - M4 19 045
EKIS 15 25 6 36 5 80 49 40 30 41 25 60 11 - - M4 22 06
EK20 20 42 10 50 10 95 58 475 30 56 25 75 11 - - M4 30 1.35

Note: 1. Tolerance of Height (h) and tolerance of Width (b) refer to the precision of standard bearing.

2. Specification are subject to change without notice.



8.1.6 EF Series

2- @XDrill
@Y Counter bore
Depth 7
I
Bk
Part No. Part name Qty
1 Housing
2 Bearing
8 Snap ring
Main dimensions (mm)
Specification
L B (Note 1] (Noteq) BI1 ~HT P =X ¥
EF06 6 12 42 25 21 13 18 20 30 55 95
EF08 6 14 52 32 26 17 25 26 38 66 M
EF10 8 20 70 43 35 25 36 24 52 9 -
EF12 10 20 70 43 35 25 36 24 52 9 -
EF15 15 20 80 49 40 30 41 25 60 9 -
EF20 20 26 95 58 475 30 56 25 75 11 -

Note: 1. Tolerance of Height (h) and tolerance of Width (b) refer to the precision of standard bearing.

2. Specification are subject to change without notice.

HIWIN

BO3TE02-1506

Z

"
12

Bearing Snap ring

60677
60677
60877
600027
600227
620477

S06
S06
508
S10
S15
S20

Weight
(kg)

0.1
0.16
0.35
0.35
0.4
0.65

17



HIWIN
18  Bo3tE02-1506

8.1.7 FK Series

L (L1)
ooy
A s
Q o
S Q
I” I]:{ AK
o]
!
T1 E \@D
Mounting method A
Part No. Part name
1 Housing
2 Bearing
3 Holding lid
4 Collar
5 Seal
6 Set screw
7 Hexagonal socket-head

Specification

FKO5
FKO6
FKO08
FK10
FK12
FK15
FK17
FK20
FK25
FK30

10
12
15
17
20
25
30

16
20
23
27
27
32
45
52
57
62

setscrew with set piece

H

56

10
10
15
22
22
27
30

F

10.5
13
14
17
17
17
23
30
30
32

E

18.5
22
26
29.5
29.5
36
47
50
60
61

D
(Note 1)

20
22
28
34
36
40
50
57
63
75

4- GXDrill

@YCounter bore

Qty

1 set

N N —

—_

Mounting Mounting

L2

A PcD B Mmethod A method B ¢

34 26
36 28
43 35
52 42
54 44
63 50
77 62
85 70
98 80
17 95

26
28
35
42
44
52
61
68
79
93

L1
5.8
5.5
7
7.5
7.5
10
M
8
13
11

T1
3.5
3.5
4

O O~ o1 Ol

10
10
12

L2
5
6.5
8
8.5
8.5
12
14
12
20
17

T2

3
4.5

12
14
17
18

3.4
3.4
3.4
4.5
4.5
5.8
6.6
6.6
9
11

T2

Y

6.5
6.5
6.5
8

8
9.5
"
(N
15

4
4
4
g
)
6

10
10
13

17.5 15

M3
M3
M3
M3
M4
M4
M4
M4
Mé
Mé

Mounting method B

© @

Main dimensions (mm)

Weight
(kg)

0.1
0.1
0.16
0.25
0.26
0.4
0.85
1.2
1.6
2.38

Note: 1. Diameter tolerance (D) refer to the precision of standard bearing.

2. Specification are subject to change without notice.



8.1.8 FF Series

Part No.
1
2
3

Specification

FF06
FF10
FF12
FF15
FF17
FF20
FF25
FF30

10
15
17
20
25
30

@D

10
12
15
17
20
20
24
27

4- @XDrill

@YCounter bore

Main dimensions (mm)

L
P p
O |
]
FC/
—I ] O
ol o <
Q[ & ©
EQR
e
al
Part name Qty
Housing 1
Bearing 1
Snap ring 1
D
H F (Note 1) A PCD
6 4 22 36 28
7 5 28 43 35
7 8 34 52 42
9 8 40 63 50
1 9 50 77 62
" 9 57 85 70
14 10 63 98 80
18 9 75 17 95

B

28
35
42
52
61
68
79
93

X

3.4
3.4
4.5
5.5
6.6
6.6
9
1

Y

6.5
6.5

14
17

4
4
4
5.5
6.5
6.5
8.5
11

HIWIN

BO3TE02-1506

Weight

Bearing Snap ring (kg)

60677

60877

600027
600277
620327
620477
620527
620677

S06
S08
S10
S15
S17
S20
525
S30

Note: 1. Diameter tolerance (D) refer to the precision of standard bearing.

2. Specification are subject to change without notice.

19



20

HIWIN
BO3TE02-1506

8.1.9 LK Series

il

2-M
2- @XDril (@ @
@YCounter bore B1 O (L2) L3
Depth Z )" \
s
\ \ § \
| | | |
I _ ——— I
= TN ]
1= | (& Hr—
b | 3 |
P L1 L
B
Part No. Part name Qty
1 Housing 1
2 Bearing 1set
3 Holding lid 1
4 Collar 2
D Seal 2
6 Set screw 1
7 Hexagonal socket-head 2

setscrew with set piece

Specification

LKO8 8 22.5
LK10 10 24
LK12 12 24
LK15 15 25

L1 L2 L3

= |2 |3E
295 6
295 6
36 5

o~ O~ O

Main dimensions (mm)

B H B1 H1 P

(Note 1) (Note 1)

62 31 31 155 30 255 46

70 38 35 20 36 30 52
70 38 35 20 36 30 52
80 41 40 22 41 32 60

Weight
(kg)

9 14 125 M3 14 0.28
9 14 10 M3 16 0.44
9 14 10 M4 19 0.42
1117 13 M4 22 051

XY Z M T

Note: 1. Tolerance of Height (h) and tolerance of Width (b) refer to the precision of standard bearing.

2. Specification are subject to change without notice.



HIWIN
BO3TE02-1506

8.1.10 LF Series

2- @XDrill
@Y Counter bore B1 @
Depth Z
o
T s
T e o
-
_k_'_l_
L
P
B
Part No. Part name Qty
1 Housing 1
2 Bearing 1
8 Snap ring 1

Main dimensions (mm)
Specification

b h . : Weight
L B H et Noteny BT HI P X ¥ 2 Bearing Snapring (kg)

LF08 6 16 62 31 31 155 30 255 46 9 14 125 60677 S06 0.19
LF12 10 20 70 38 35 20 36 30 52 9 14 10 600077 S10 0.3
LF15 15 20 80 41 40 22 41 32 60 9 14 N 600277 S15 0.35

Note: 1. Tolerance of Height (h) and tolerance of Width (b) refer to the precision of standard bearing.

2. Specification are subject to change without notice.

21



HIWIN
22 B03TEO2-1506

8.1.11 LFA Series

Part No.
1
2
3

Specification

LFA12
LFA15
LFA20
LFA25

Main dimensions (mm)

2- @XDrill
@Y Counter bore B1
Depth Z
1 ‘ \ T
e L - ey
I ] K ]
=N
|| L]
P
B
Part name Qty
Housing 1
Bearing 1
Snap ring 2
L B H Notet) (Noteny BT HI
12 18 62 31 31 15,5 30 255
15 18 70 38 35 20 36 30
20 22 80 41 40 22 41 32
25 22 95 58 475 30 56 45

P

46
52
60
75

X

9
9
"
1

Y

14
14
17
17

Z Bearing Snap ring

12.5 680177
10 690277
13 680477
15 600577

R21
R28
R32
R47

Weight
(kg)

0.2

0.26
0.35
0.61

Note: 1. Tolerance of Height (h) and tolerance of Width (b) refer to the precision of standard bearing.

2. Specification are subject to change without notice.



8.1.12 Suggestive machining dimension for support units

e Fixed Side - BK Series

g
0
—

BK

Specification

BK10
BK12
BK15
BK17
BK20
BK25
BK30
BK35
BK40

Note: This chart is the suggestive specification(E,S,M) for ball screw end machining to match with the

10-15
14-18
20
25-28
25-28
30-36
40
45
50

support units, for the rest of the specifications please refer to the ball screw manual.

D

10
12
15
17
20
25
30
35
40

@d

E
=
) ‘1
|
} |

Main dimensions (mm)

E M S
36 M10 x 1 12
36 M12 x 1 12
40 M15 x 1 12
53 M17 x 1 17
53 M20 x 1 15
66 M25x 1.5 20
73 M30 x 1.5 25
82 M30x 1.5 26
94 M40 x 1.5 30

HIWIN
BO3TE02-1506

23



24

HIWIN
BO3TE02-1506

e Fixed Side - FK, EK, AK, LK Series

~—
T

FK series mounting way A

FK

FKO5
FK0é
FKO08
FK10
FK12
FK15
FK17
FK20
FK25
FK30

?

i

FK series mounting way B

@D

w/

Specification

EK

EK05
EK06
EKO08
EK10
EK12
EK15

EK20

AK

AK10
AK12
AK15

AK20
AK25

LK

LKO08
LK10
LK12
LK15

@d

10-12
10-15
14-18
20
25-28
25-28
30-36
40

-
]

Main dimensions (mm)

8
10
12
15
17
20
25
30

E

23
28
32
36
36
48
59
64
76
73

M

M5 x 0.5
M6 x 0.75
M8 x 1
M10 x 1
M12 x 1
M15 x 1
M17 x 1
M20 x 1
M25x 1.5
M30x 1.5

EK, AK, LK series
mounting way B

10
12
12
13
17
16
20
25

Note: This chart is the suggestive specification(E,5,M) for ball screw end machining to match with the

support units, for the rest of the specifications please refer to the ball screw manual.



HIWIN
BO3TE02-1506 23

* Supported Side

a

HON
C— — /
—_|
Specification Main dimensions (mm)
FF EF BF AF LF d D E F G
FF0é EF06 - - - 8 6 9 6.8 0.8
- EF08 - - LF08 10-12 6 9 6.8 0.8
FF10 EF10 BF10 AF10 - 10-15 8 10 7.9 0.9
FF12 EF12 BF12 AF12 = 14-18 10 11 9.15 1.15
FF15 EF15 BF15 AF15 LF12 20 15 13 10.15 1.15
FF17 - BF17 - LF15 25-28 17 16 13.15 1.15
FF20 EF20 (BF20) AF20 - 25-28 20 19(16)  15.35(13.35) 1.35
FF25 - BF25 AF25 - 30-36 25 20 16.35 1.35
FF30 - BF30 - - 40 30 21 17.75 1.75
- - BF35 - - 45 35 22 18.75 1.75
= = BF40 = = 50 40 23 19.95 1.95

Note: This chart is the suggestive specification(E,F,G) for ball screw end machining to match with the

support units, for the rest of the specifications please refer to the ball screw manual.



26

HIWIN
BO3TE02-1506

8.1.13 Standard Lock Nut

-
/ k/ !
Part No. Part name Qty
1 Lock Nut 1
) Hexagonal socket-head 2

setscrew with set piece

Specification

h d1 m
M5 x 0.5 12.5 3 8 M3
M6 x 0.75 13,3 g 9 M3
M8 x 1.0 16 6.5 (N M3
M10x 1.0 19 8 13 M3
M12x 1.0 22 8 16 M4
M15x 1.0 25 8 19 M4
M17x 1.0 29 13 21 M4
M20 x 1.0 35 1 27 M4
M25x 1.5 43 15 32 Mé
M30x 1.5 48 20 37 Mé
M35x 1.5 60 21 47 Mé
M40 x 1.5 62 25 47 Mé

R
allp= |
SIS @1

|
05 _|_
h

Main dimensions (mm)

cl

2.7
2.7

5.8
58
4.75

10
14
14
18

M5 x 0.5
M6 x 0.75
M8 x 1.0
M10x 1.0
M12x 1.0
M15x 1.0
M17 x 1.0
M20 x 1.0
M25x 1.5
M30 x 1.5
M35 x 1.5
M40 x 1.5

n

M
12
14
16
19
22
24
30
35
40
50
50

Tightening
Torque
(reference])
(N-m])

1.5
2
2.5
3
6.5
8
9.5
17
21
32
48
72

Set screw
tightening
torque
(reference)
(N-m)
0.63
0.63
0.63
0.63
1.5
1.5
1.5
1.5
5.2
5.2
5.2
5.2



8.2 Heavy Load Support Unit Specification

8.2.1 WBK Series

-
Thread depth. Q* Ny
end face \@(
Peow f|
6-@XDril ) \{Ej}//i
@YCounter bore A
Depth 2 Internal diameter d=30
Aol !
0| 00|
%I'O __ISE
§gs 588
e
I I*
L1 L2
L
Specification
Dgs6 DI D2 L LI L2
WBK15DF 15 70 9%, 106 72 60 32 15
WBKI7DF 17 70 00}, 106 72 60 32 15
WBK20DF 20 70 393}, 106 72 60 32 15
WBK25 DF 66 33
WBK25DFD 25 853037 130 90 81 48 18
WBK25 DFF 9% 48
WBK30 DF 66 33
WBK30DFD 30 85093 130 90 81 48 18
WBK30 DFF 9% 48
WBK35 DF 66 33
WBK35DFD 35 950537 142 102 81 48 18
WBK35 DFF 9 48
WBK40 DF 66 33
WBK40 DFD 40 95 9032 142 102 81 48 18
WBK40 DFF 9 48

7[/

%

4-p*
Thread depth. Q*
end face

15°

?GO\I*

8-@XDrill

B

I
~—

©

< et
2
59

15°
L?Oo
N

JYCounter bore

Depth Zz

Internal diameter d235

Main dimensions (mm)

A

80

80

80

100

100

106

106

X Y Z

14
14
14

110 11

110

11

121

121

d1 H8

+0.039
45 %

45 +0.039
0.039
45 8

+0.046
57

+0.046
57

+0.046
69 g

+0.046
69 o

HIWIN
BO3TE02-1506

* yx p*x Q* W[iig]ht
3 58 Mb 10 1.9
3 58 M5 10 1.9
3 58 Mb 10 1.9
3.1
4 70 M6 12 3.4
3.8
5
4 70 M6 12 33
3.8
3.4
4 80 M6 12 43
5
3.6
4 80 M6 12 4.2
5.7

* Specification are subject to change without notice.

27



HIWIN
28  B03TE02-1506

L3
_l_
|
- H-
IEn 00z 0im=lz W
& ‘ 8 ‘ = L é s H—
L5 S|
L4 L3
Internal Lock Nut Support base installation part
diameter (mm) Specification

M D3 L3 d L4 L5
®15 WBK15 DF M15 30 14 15 81 23
®17 WBK17 DF M17 32 16 17 81 23
®20 WBK20 DF M20 38 16 20 81 23

WBK25 DF 89
®25 WBK25 DFD M25 38 18 25 104 26

WBK25 DFF 119

WBK30 DF 89
®30 WBK30 DFD M30 45 18 30 104 26

WBK30 DFF 119

WBK35 DF 92
® 35 WBK35 DFD M35 52 18 35 107 30

WBK35 DFF 122

WBK40 DF 92
® 40 WBK40 DFD M40 58 20 40 107 30

WBK40 DFF 122



HIWIN
BO3TE02-1506

8.2.2 Heavy Load Lock Nut

A
!

|
|

/
.
|
I
L

|
e
\
B e i }
> |
N N : e &\
3, !
9 ! |
$J 0.5
1 2
Part No. Part name Qty
1 Lock Nut 1
) Hexagonal socket-head 3

setscrew with set piece

Main dimensions (mm)

. . Set screw
Tightening . hteni
Specification Torque gl
D h d g t m G torque
(reference)
(N-m] (reference)
(N-m)
M15x 1.0 30 14 25 2 4 Mb M15x 1.0 35 3
M17 x 1.0 32 16 27 2 4 M5 M17 x 1.0 42 3
M20x 1.0 38 16 33 2 4 Mé M20x 1.0 46 5.2
M25x 1.5 38 18 33 2 5 M6 M25x 1.5 87 5.2
M30 x 1.5 45 18 40 2 3 Mé M30 x 1.5 105 5.2
M35 x 1.5 52 18 47 2 5 M8 M35x 1.5 340 12.5
M40 x 1.5 58 20 52 2.5 6 M8 M40 x 1.5 500 12.5

29



HIWIN.

Motion Control and System Technology

HIWIN TECHNOLOGIES CORP.
No. 7, Jingke Road,

Taichung Precision Machinery Park,
Taichung 40852, Taiwan

Tel: +886-4-23594510

Fax: +886-4-23594420

www.hiwin.tw

businessf@hiwin.tw

Subsidiaries & R&D Centers

HIWIN GmbH
OFFENBURG, GERMANY
www.hiwin.de
www.hiwin.eu
info@hiwin.de

HIWIN JAPAN

KOBE - TOKYO - NAGOYA - KYUSHU - NAGANO -

HIROSHIMA - HOKURIKU, JAPAN
www.hiwin.co.jp
info@hiwin.co.jp

HIWIN USA
CHICAGO - SILICON VALLEY, U.S.A.

www.hiwin.com
info@hiwin.com

HIWIN s.r.o.
BRNO, CZECH REPUBLIC
www.hiwin.cz
info@hiwin.cz

HIWIN SCHWEIZ
JONA, SWITZERLAND
www.hiwin.ch
infoldhiwin.ch

HIWIN FRANCE

ECHAUFFOUR, FRANCE
www.hiwin.fr
infoldhiwin.fr

HIWIN Srl

MILAN, ITALY
www.hiwin.it
infoldhiwin.it

HIWIN SINGAPORE
SINGAPORE
www.hiwin.sg
info@hiwin.sg

HIWIN KOREA

SUWON, KOREA
www.hiwin.kr
info@hiwin.kr

HIWIN CHINA

SUZHOU, CHINA
www.hiwin.cn
info@hiwin.cn

Mega-Fabs Motion System, Ltd.

HAIFA, ISRAEL
www.mega-fabs.com
infoldmega-fabs.com

©2015 FORM BO3TE02-1506
(PRINTED IN TAIWAN])



